

Development & Well-being for Ukrainian Children

NGO Club Eney



WHO WE ARE?



We are people with experience of drug using who have united in our own organization «Club Eney».

- We work with key population groups: people who use drugs, sex-workers, women in the situation of violence, including internally displaced persons.
- We create conditions for improving the quality of life of key population groups and their relatives.
- We implement innovative approaches focused on people's needs.
- We are looking for like-minded people and work in cooperation with partners.



Our Vision & Mission



Community ideas and experiences for a better life for people.









Our mission is satisfaction and protection of legitimate social, economic, creative and other common interests of members, clients of the Club and charity, including improving the life and health of key communities.

OUR PROJECT



According to the UN Convention on the Rights of the Child, the satisfaction of the best interests of the child should be a basic right, not a privilege.

The reality of children in Ukraine is hunger and fear.

Club Eney provides nutrition, activities, and educational toys for children which parents are affected by the crisis caused by the war in Ukraine. Their mothers, women with intersecting marginalization, will train in parenting and receive crisis psychological / reproductive health counseling to improve well-being of their families. Our work is based on people's needs, aimed at saving lives and reducing the suffering of vulnerable groups affected by the war and HIV epidemic.





Our project will help at least 200 women with intersecting marginalization to care about their children and own mental health. It will strengthen them and help overcome the crisis.

600 children affected by the war will receive toys or drawing kits, and warm memories.









*All presented photos are taken with the consent of clients. All photos of children are posted with the consent of their parents.





BUDGET OF THE PROJECT

COST ITEM	Price USD	Amount	TOTAL USD
A SET FOR A MASTER CLASS	5\$	40	200
PAYMENT OF THE TEACHER'S SERVICES FOR CHILDREN	25\$	8	200
EDUCATIONAL TOY	10\$	100	1000
SOFT TOY	6\$	200	1200
DRAWING KIT	6\$	200	1200
MUSIC TOY FOR BABY	8\$	100	800
INFANT FORMULA	4\$	150	600
TRAINING MATERIALS FOR PARENTS	5\$	40	200
PAYMENT OF THE COACH'S SERVICES	25\$	8	200
ECUCATIONAL CONSTRUCTOR	25\$	1	25
TOTAL FOR THE PROJECT			5625





THANK YOU!

Warmly, NGO Club Eney Team